
26660 Triumph Trident 660 Fly Screen Instructions

Attach the fairing to the screen (Fig 1).

Attach the brackets (left and right) to the fairing (Fig 1).

Remove the OEM yoke pinch bolts and fit the screen assembly using the M8 X 40mm Bolts + 
M8 Spacers supplied (Fig 2 shows how the brackets attach to the bike).

Check all fixings periodically.

Kit Includes:
1X
2X
1X
2X
2X
4X4X
4X
4X
1X   
1X    

Fairing
Brackets (Left and Right)
Screen Kit (1X Light Smoke Screen, 3X Well Nuts, M5 X 16mm Bolts, Washers + Bolt Caps)
M8 X 40mm Bolt
M8 Spacer
M5 Well Nut
M5 X 12mm BoltM5 X 12mm Bolt
M5 Washer
Trident Logo Decal White
Trident Logo Decal Black

C26660
CFK26660
SMOT***
CBOL0305
CSPAM80001
CNUT0156
CBOL0106CBOL0106
CWAS0100
CBRA08660B
CBRA08660C

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

Follow us on social media and 
feel free to leave us a review!

Right-Hand 
Side Bracket

Right-Hand 
Side Bracket

M8 X 40mm Bolt

M8 Spacer

M8 Spacer

M8 X 40mm Bolt

M5 Well Nut

M5 Washer

M5 X 12mm Bolt

‘Screen Kit’(1X Light Smoke Screen, 3X Well Nuts, 
M5 X 16mm Bolts, Washers + Bolt Caps)

M5 We
ll Nut

M5 Wa
sherM5 X 

12mm 
Bolt

Left-Hand 
Side Bracket

Left-Hand 
Side Bracket

Fig 1

Fig 2


